Sentence Comprehension Response Form

ID:

(Adapted from Philadelphia Comprehension Battery, Saffran et al., 1988)

Date:

Sentence

ORC-L

SRC-L

LOC-L

ACT-L

PAS-L

ORC-R

SRC-R

LOC-R

ACT-R

PAS-R

The woman that the man painted was friendly. (T)

The robber that the policeman shot was wounded. (T)

The dog that chased the boy was fast. (T)

The hook is under the bookshelf. (T)

The policeman shoots the robber. (T)

The man serves the woman. (B)

The woman that photographed the man was friendly. (B)

The dog is washed by the boy. (B)
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The policeman that the robber shot was ruthless. (T)

—_
(e}

The hunter follows the dog. (T)
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The man is served by the woman. (T)
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The dog is followed by the hunter. (T)
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The boy that the dog chased was lost. (B)
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The boy is under the wagon. (B)
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The newspaper is on the book. (B)
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The girl that the boy washed was dirty. (B)

—_
N

The baby follows the dog. (B)
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The robber is shot by the policeman. (B)
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The girl is under the tree. (T)
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The girl that washed the boy was talkative. (B)
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ORC = Object relative clause SRC = Subject relative clause

LOC = Locative

ACT = Active PAS = Passive

Lexical (L) total: /10

Temple University Language and STM Battery (Martin et al., 2007)

Reversible (R) total:

Overall (L+R) total:

/10

/20




